Chapter 24: An Age of Modernity, Anxiety, and Imperialism (1894-1914)
Lesson 4: International Rivalry and the Coming War
Opening the Lesson:

1. Some time before 1914, Europe went off its course. Where? When? Not easy to determine. Did it all begin with German unification? Richelieu had said that a united Germany would revolutionize the relations of the European powers with one another. It is true that the unification of both Germany and Italy made a European war more likely. Why? The unifications clearly changed the balance of power and there was no longer territory in Europe available for making territorial adjustments except in the Balkans. After 1870 Europe seemed to live in fear of it. As a result they maintained huge armies, and compulsory military service became the norm.

2. When the war began, the nations of Europe went willingly because they believed that they had no other choice. Moreover, each country and its people believed firmly that it would be a short war leading to a decisive victory. Such a war, they believed, would “clear the air,” and Europe could go on as before. On the other hand, Sir Edward Grey remarked, “the lights have gone out across Europe and they will not be lit again in our life time.” The latter observation was more correct. WWI was long, indecisive, and unbelievably destructive. Until WWII, it was simply known as the Great War. It was the great turning point in modern history.

Developing the Lesson:
I. International Rivalry and the Coming of War (1879-1914).

A. The Bismarck System of Alliances.
1. Had Bismarck been a Napoleon, he would have continued to expand and sooner or later a coalition of nations would have risen against him, but B had no territorial ambitions in Europe.
2. Bismarck feared that a major European war could tear Germany to pieces.
3. What were Bismarck’s first concerns?

a. The French desire for revenge after its humiliating defeat in the Franco-Prussian War.
1) Forced to pay a large indemnity.
2) Had to cede A-L to Germany.
b. The threat to peace posed by Russia and Austria with their conflicting interests in the Balkans.
4. What was Bismarck’s solution to maintaining peace?

a. Isolate France and keep her from obtaining allies.
b. Restrain Russia and Austria and keep them from going to war.
5. What steps did Bismarck take to maintain peace?

a. He first created the League of Three Emperors (1872-78) which linked Germany, Russia and Austria in an alliance against radical movements but the Russo-Turkish War of 1877-78 threatened the balance of power resulting in the Congress of Berlin of 1878 whose terms caused Russia to terminate the League.
1) Russia defeated Turkey and forced her to grant independence to Serbia, Montenegro and Rumania.
2) Bulgaria was given access to the Aegean Sea and placed under Russian domination.
3) A-H threatened war with Russia and thus B called the Congress of Berlin.
a) A-H gained the right to occupy B-H to counter balance Russian gains.
b) Serbia, Montenegro and Rumania gained independence.
c) Bulgaria was reduced and given autonomy within the Ottoman Empire.
4) Russian nationalists, furious with these terms, ended the League of Three Emperors.
b.  With the League ended, B then signed an alliance with Austria (Dual Alliance) and sought to repair the damage with Russia to make sure she did not sign an alliance with France.
1) The League of Three Emperors was resurrected in 1881

a) Each agreed to remain neutral if any went to war with a fourth power and – 

b) They would cooperate in dealing with Turkey.
2) Russia remained unhappy and declined to renew the League in 1887 leading Bismarck to convince Russia to sign the Reinsurance Treaty.
a) Each agreed to remain neutral if either was attacked by a third power, but –

b) The treaty was null and void if Germany attacked France or Russia attacked Austria.
c. The next step was having Italy join the Dual Alliance between Germany and Austria in 1882 thus creating the Triple Alliance.
d. The last step was to remain friendly with Britain and this he managed to do – how?

1) The Congress of Berlin 1878 and the Congress of Berlin 1884-85.
2) Germany made no effort to challenge Britain’s supremacy of the seas or her empire.
B. The Unraveling of the Bismarck System.
1. In 1888 Wilhelm II came to the throne.
2. Wilhelm dismissed B and refused to renew the Reinsurance Treaty.
a. Russia was willing but Wilhelm was not because he did not think that Russia would get together with France.
b. France immediately began to court Russia and an alliance was announced in 1894 promising aid if Germany or Austria should attack either – the Dual Entente.
3. Wilhelm’s announcement of a “place in the sun, her challenge to Britain’s sea power, and her friendliness to the Boers worried Britain and caused Britain and France to come to an understanding in 1904 with the Entente Cordiale.
a. France agreed to recognize British rule in Egypt in return for British acceptance of French control of Morocco.
b. Germany announced she would not recognize the agreement which became the First Moroccan Crisis and led to the Algeciras (Spain) Conference in 1906.
4. The First Moroccan Crisis/the Algerciras Conference and the results.
a. The crisis and the conference was a defeat for Germany when, although Morocco was to remain independent, it was considered to be in France’s sphere of influence.
b. The next year, 1907, Russia joined France and Britain in the Triple Entente.
1) Russia had just come out of the R-J War and was willing to settle differences with Britain concerning Asia.
2) Britain saw the opportunity to encircle Germany.
5. The unraveling of the Bismarck system was now complete as Europe was divided into two armed camps.
C. New Directions and New Crisis Leading to War in the Balkans.
1. The Balkans.
a. Serbs, Bosnians, Croats and Slovenes speak the same language: Serbo-Croatian.
b. Serbs and Bosnians use the Cyrillic alphabet while Croats and Slovenes use the Roman alphabet.
c. Serbs are Orthodox, Bosnians and Muslims, and Croats and Slovenes are Roman Catholic.
2. The Bosnian Crisis of 1908.
a. Russia wanted the Straits opened to her and believed that France and Britain would no longer oppose her but was convinced that Austria would.
b. Russia made a deal with Austria.
1) Russia would not oppose Austrian annexation of B-H and –

2) Austria would support the opening of the Straits to Russia.
c. Austria, with German support, reneged and annexed B-H before Russia could act.
d. Russia then tried to force Turkey to open the Straits but met resistance from France and Britain which she did not expect.
e. Russia, humiliated, was forced to back away even though Bulgaria gained independence.
3. The Second Moroccan Crisis 1911.
a. The French sent forces to occupy Morocco and the Germans sent a warship to protest.
b. France then agreed to give part of the French Congo to Germany and Germany agreed to French possession of Morocco.
c. The French public was outraged; the government collapsed; the new government promised no more concessions.
d. German belligerence in the crisis alarmed both France and Britain who then ordered their navies to home waters.
4. The Turco-Italian War 1911.
a. Italy used the Second Moroccan Crisis to demand Tripoli.
b. By the Treaty of Lausanne Italy gained Tripoli and islands in the Aegean.
5. The First Balkan War 1912.
a. As a result of Italy’s easy victory over Turkey in gaining Tripoli, Montenegro, Serbia, Bulgaria and Greece attacked Turkey.
b. As a result of the war, Turkey gave up all her land in Europe except what she now controls and Serbia gained an outlet to the Adriatic but Austria and Germany forced her to give it up; this territory then became independent Albania.
c. Serbia had though Russia would come to her aid, but it did not happen and Serbia felt humiliated.
6. The Second Balkan War 1912-13.
a. Bulgaria wanted more land and attacked Serbia and Greece.
b. Serbia then attacked Albania.
c. The result: Serbia and Bulgaria were forced to give up what they had gained.
D. Consequences of These Crisis.
1. Both Britain and France became more fearful of Germany.
2. The crises in the Balkans pushed Austria and Germany closer together; in the past, B held Austria in check but now Germany gave Austria its full support.
3. Austria became determined to crush Serbia and the Balkans.
4. Serbia became determined to avenge her humiliation and stepped up propaganda and terrorist activities against Austria.
5. Russia became determined that she could longer back down in the face of another crisis and would aid Serbia the next time.
6. The ingredients were there for war between Austria and Serbia which could easily draw in Germany and Russia and this France and Britain. 

Concluding the Lesson:
1. An American in Germany observed, “The whole of Germany is charged with electricity.  Everybody’s nerves are tense.  It only needs a spark to set the whole thing off.”
2. The German ambassador to France noted at the same time that, “peace remains at the mercy of an accident.”

3. The European “age of progress” was about to come to an inglorious and bloody end.

